

5.5

Haar $c = \Delta t \Delta \omega$

$$f(t) = \begin{cases} a, & |t| < \tau/2 \\ 0, & |t| > \tau/2 \end{cases}$$

рисовать:

$$S(\omega) = + \frac{1}{2\pi} \int_{-\infty}^{+\infty} g(t) e^{-i\omega t} dt =$$

$$= \frac{1}{2\pi} \int_{-\frac{T}{2}}^{\frac{T}{2}} a e^{-i\omega t} = \frac{a}{2\pi(-i\omega)} e^{-i\omega t} \Big|_{-\frac{T}{2}}^{\frac{T}{2}} =$$

$$= \frac{a}{2\pi(-i\omega)} (-2i \sin \frac{\omega\tau}{2}) = \frac{a}{\pi\omega} \sin \frac{\omega\tau}{2} =$$

$$= \frac{a\tau}{2\pi} \frac{\sin \frac{\omega\tau}{2}}{\frac{\omega\tau}{2}} = \frac{a\tau}{2\pi} \text{sinc} \frac{\omega\tau}{2}$$

$$\Delta t = \int_{-\infty}^{+\infty} |s(t)|^2 dt / (\max |s(t)|)^2 =$$

$$= \frac{a^2 r}{a^2} = r \quad \text{QED} \quad \text{QED}$$

$$\Delta W = \int_{-\infty}^{+\infty} \frac{a^2 \sin^2 \frac{\omega T}{2}}{\left(\frac{aT}{2\pi}\right)^2 \left(\frac{aT}{2\pi}\right)} d\omega =$$

$$= \int_{-\infty}^{+\infty} 4 \sin^2 \frac{\omega \tau}{2} d\omega = \frac{4}{\tau}$$

$$g(\omega) = \frac{1}{2\pi} \int_{-\frac{\tau(1+d)}{2}}^{\frac{\tau(1-d)}{2}} \frac{a}{1 \pm} \left(t + \frac{\tau(1+d)}{2} \right) e^{i\omega t} dt$$

$$+ \int_{-\frac{\tau(1-d)}{2}}^{\frac{\tau(1-d)}{2}} a e^{-i\omega t} dt + \int_{\frac{\tau(1+d)}{2}}^{\frac{\tau(1+d)}{2}} -\frac{a}{2\tau} \left(t - \frac{\tau(1+d)}{2}\right) e^{-i\omega t} dt$$

$$= \int_0^{\infty} \int t e^{ct} dt = t \frac{e^{ct}}{c} - \int \frac{e^{ct}}{c} dt =$$

$$= \frac{te^{ct}}{c} - \frac{e^{ct}}{c^2} + C \int$$

$$= \frac{2a}{\pi \tau d \omega^2} \sin \frac{\omega \tau}{2} \sin \frac{\omega d \tau}{2}$$

$$A + = \int_{-\infty}^{+\infty} |g(t)|^2 dt / (\max |g(t)|)^2 =$$

$$= \left[a^2 r(1-d) + \int_a^b \left(\frac{a}{2r} \left(1 + r \frac{(1+d)}{2} \right) \right)^2 dr \right] +$$

$$= \left[\int_{-b}^{-a} \left(\frac{a}{\sqrt{r}} \left(t + \frac{r(1+d)}{2} \right)^2 \right) dt \right] / a^2 =$$

$$= \frac{4}{T^2} \int_{-\infty}^{+\infty} \frac{\sin^2 \frac{\omega T}{2}}{\omega^2} d\omega =$$

$$= \frac{4}{T^2} \int_{-\infty}^{+\infty} \frac{1 - \cos \omega T}{2\omega^2} d\omega =$$

$$= \frac{2}{T^2} \int_{-\infty}^{+\infty} \frac{1 - \cos \omega T}{\omega^2} d\omega =$$

$$= \frac{2}{T^2} \left(-\frac{1}{\omega} \Big|_{-\infty}^{+\infty} - \int_{-\infty}^{+\infty} \frac{\cos \omega T}{\omega^2} d\omega \right) =$$

$$= \frac{2}{T^2} \left(+ \frac{\cos \omega T}{\omega} \Big|_{-\infty}^{+\infty} + T \int_{-\infty}^{+\infty} \frac{\sin \omega T}{\omega} d\omega \right) =$$

$$= \frac{2}{T^2} T \int_{-\infty}^{+\infty} \frac{\sin \omega T}{\omega} d\omega = 4 \int_0^{\infty} \frac{\sin \omega T}{\omega} d\omega$$

$$= \frac{4I(T)}{T}$$

$$= \left(a^2 T (1-d) + \frac{a^2}{2^2 T^2} \left(\frac{T(1+d)}{2} \right)^3 \right. \\ \left. + \frac{a^2}{2^2 T^2} \left(-a + \frac{T(1+d)}{2} \right)^3 \right) / a^2 =$$

$$= T(1-d) - \frac{1}{2^2 T^2} \left(\frac{T(1-d)}{2} - \frac{T(1+d)}{2} \right)^3 \\ + \frac{1}{2^2 T^2} \left(-\frac{T(1-d)}{2} + \frac{T(1+d)}{2} \right)^3 =$$

$$= T(1-d) - \frac{1}{2^2 T^2} \left(-Td \right)^3 + \frac{1}{2^2 T^2} \left(Td \right)^3 =$$

$$= T(1-d) + \frac{2}{3} Td = T - Td + \frac{2}{3} Td =$$

$$= T - \frac{Td}{3} \quad \text{— гмма та сума}$$

$$\Delta \omega = \left\{ \max S(\omega) = \left\{ \omega = 0 \text{ us } \text{spazuvay} \right\} \right.$$

$$= \frac{2a}{\pi T d} \cdot \frac{2}{\pi} \cdot \frac{I}{2} \cdot \frac{dT}{2} = \frac{aT}{2\pi} \}$$

$$= \frac{\int_{-\infty}^{+\infty} \left(\frac{2a}{\pi T d \omega^2} \sin \frac{\omega T}{2} \sin \frac{\omega T d}{2} \right)^2 d\omega}{\left(\frac{2a}{\pi T d} \right)^2 \left(\frac{aT}{2\pi} \right)^2} =$$

$$= \frac{16}{T^4 d^2} \int_{-\infty}^{+\infty} \left(\frac{\sin \frac{\omega T}{2} \sin \frac{\omega T d}{2}}{\omega^2} \right)^2 d\omega$$

$$= \frac{16}{T^4 d^2} \int_{-\infty}^{+\infty} \frac{(1 - \cos \omega T)(1 - \cos \omega T d)}{\omega^4} d\omega$$

$$= \frac{16}{T^4 d^2} \int_{-\infty}^{+\infty} \left(-\frac{\cos \omega T}{\omega^4} - \frac{\cos \omega T d}{\omega^4} + \frac{\cos \omega T \cos \omega T d}{\omega^4} \right) d\omega$$

$$\begin{aligned}
& \frac{1}{2\pi} \left[\frac{a}{2\tau} \left(\frac{te^{-i\omega t}}{-i\omega} + \cancel{\frac{\tau(1+d)}{2\tau}} - \frac{e^{-i\omega t}}{(-i\omega)^2} + \frac{\tau(1+d)}{2(-i\omega)} e^{-i\omega t} \right) \begin{vmatrix} -\frac{\tau(1-d)}{2} \\ -\frac{\tau(1+d)}{2} \end{vmatrix} \right. \\
& + \left(-\frac{a}{2\tau} \right) \left(\frac{te^{-i\omega t}}{-i\omega} - \frac{e^{-i\omega t}}{(-i\omega)^2} - \frac{\tau(1+d)}{2(-i\omega)} e^{-i\omega t} \right) \begin{vmatrix} \frac{\tau(1+d)}{2} \\ \frac{\tau(1-d)}{2} \end{vmatrix} \\
& + \frac{a}{-i\omega} e^{-i\omega t} \begin{vmatrix} \frac{\tau(1+d)}{2} \\ -\frac{\tau(1-d)}{2} \end{vmatrix} \Bigg] = \frac{1}{2\pi} \left[\cancel{\frac{a}{2\tau}} \dots \right] \\
& \frac{a}{2\tau} \left[\frac{-ae^{+i\omega a}}{-i\omega} - \frac{(-b)e^{+i\omega b}}{-i\omega} - \frac{e^{i\omega a}}{(-i\omega)^2} + \frac{\tau(1+d)}{2(-i\omega)} e^{i\omega a} - \frac{\tau(1+d)}{2(-i\omega)} e^{i\omega b} \right. \\
& - \left(\frac{be^{-i\omega b}}{-i\omega} - \frac{ae^{-i\omega a}}{-i\omega} - \frac{e^{-i\omega b}}{(-i\omega)^2} + \frac{e^{-i\omega a}}{(-i\omega)^2} - \frac{\tau(1+d)}{2(-i\omega)} e^{-i\omega b} + \frac{\tau(1+d)}{2(-i\omega)} e^{-i\omega a} \right) \\
& + \frac{a}{-i\omega} (-2i \sin(\omega \tau \frac{1-d}{2})) \Bigg] = \frac{1}{2\pi} \left[\dots \right. \\
& \frac{a}{2\tau} \left(\frac{a}{-i\omega} (-e^{i\omega a} + e^{-i\omega a}) + \frac{1}{(-i\omega)^2} (-e^{i\omega a} - e^{-i\omega a}) + \frac{1}{(-i\omega)^2} (e^{i\omega b} + e^{-i\omega b}) \right. \\
& + \left. \frac{\tau(1+d)}{2(-i\omega)} (e^{i\omega a} - e^{-i\omega a}) \right) + \frac{a}{\omega} \sin(\omega \tau \frac{1-d}{2}) \Bigg] = \\
& \frac{1}{2\pi} \left[\frac{a}{2\tau} \left(\frac{\tau(1-d)}{2(-i\omega)} (e^{i\omega a} + e^{-i\omega a}) \right) (-2i \sin \omega a) + \frac{1}{(-i\omega)^2} (-2i \cos \omega a) + \right. \\
& + \left. \frac{1}{(-i\omega)^2} 2 \cos \omega b + \frac{\tau(1+d)}{2(-i\omega)} 2i \sin \omega a \right) + \frac{2a}{\omega} \sin(\omega \tau \frac{1-d}{2}) \Bigg] = \\
& \frac{1}{2\pi} \left[\frac{a}{2\tau} \left(2 \frac{\tau \cdot d}{2(-i\omega)} \cdot 2i \sin \omega a + \frac{1}{\omega^2} 2(\cos \omega a - \cos \omega b) \right) + \frac{2a}{\omega} \sin(\omega \tau \frac{1-d}{2}) \right] = \\
& = \frac{1}{2\pi} \left[\frac{2a}{-i\omega} \sin \omega \frac{\tau(1-d)}{2} + \frac{a^2}{\omega^2} (\cos \omega (\frac{\tau(1-d)}{2}) - \cos \omega (\frac{\tau(1+d)}{2})) + \frac{2a}{\omega} \sin(\omega \tau \frac{1-d}{2}) \right] \\
& = \frac{1}{2\pi \omega^2 d\tau} 2 \sin \frac{\omega \tau}{2} \cdot \sin \frac{\omega d\tau}{2} = \frac{2a}{\pi \omega^2 d\tau} \sin \frac{\omega \tau}{2} \sin \frac{\omega d\tau}{2} = \boxed{S(\omega)}
\end{aligned}$$

$$\int_{-\infty}^{+\infty} \frac{\cos \omega t}{\omega^4} d\omega = \frac{\cos \omega t}{3 \omega^3} \Big|_{-\infty}^{+\infty} - \frac{c}{3} \int_{-\infty}^{+\infty} \frac{\sin \omega t}{\omega^3} d\omega =$$

$$= -\frac{c}{3} \int_{-\infty}^{+\infty} \frac{\sin \omega t}{\omega^3} d\omega = \frac{c}{3} \frac{\sin \omega t}{2 \omega^2} - \frac{c^2}{6} \int_{-\infty}^{+\infty} \frac{\cos \omega t}{\omega^2} d\omega =$$

$$= \frac{c^2}{6} \frac{\cos \omega t}{\omega} + \frac{c^3}{6} \int_{-\infty}^{+\infty} \frac{\sin \omega t}{\omega^2} d\omega \cdot \int_{-\infty}^{+\infty} \frac{\cos \omega t}{\omega^4} d\omega \cdot \frac{d^4}{d^4} \frac{\cos \omega t}{(\omega t)^4} d\omega$$

$$\Rightarrow \Delta \omega = \frac{4}{T^4 d^2} \left(-\frac{T^3}{6} \int_{-\infty}^{+\infty} \frac{\sin \omega t}{\omega} d\omega - d^3 \cdot \frac{T^3}{6} \int_{-\infty}^{+\infty} \frac{\sin \omega t}{\omega} d\omega + \right.$$

$$\left. + \int_{-\infty}^{+\infty} \frac{\cos \omega t \cos \omega t}{\omega^4} d\omega \right) =$$

$$= \frac{4}{T^4 d^2} \left(-\frac{T^3}{6} (1+d^3) d I_1(t) + \int_{-\infty}^{+\infty} \frac{\cos \omega t \cos \omega t}{\omega^4} d\omega \right)$$

$$\parallel \frac{T^3}{6} \int_{-\infty}^{+\infty} \frac{\cos \omega \cos \omega}{\omega^4} d\omega = I_2$$

$$\Rightarrow C_1 = T \cdot 4 I_1(t) = 4 I_1.$$

$$C_2 = \frac{4}{T^4 d^2} \left(T^3 I_2 - I_1(t) \frac{T^3}{3} (1+d^3) \right) \cdot \left(T - \frac{T d}{3} \right)$$

$$I = \int_0^{\infty} \frac{\sin \omega}{\omega} d\omega = \int_0^{\infty} \frac{\sin T \omega}{\omega T} d(\omega T) = \frac{T}{T} \int_0^{\infty} \frac{\sin T \omega}{\omega} d\omega$$

$$= \frac{4}{d^2} \left(I_2 - \frac{I_1(1+d^3)}{3} \right) \left(1 - \frac{d}{3} \right)$$

$$\int_{-\infty}^{\infty} \frac{\cos \omega \cos \omega d}{\omega^4} d\omega = \int_{-\infty}^{\infty} \frac{\frac{1}{2}(\cos(\omega - \omega d) + \cos(\omega + \omega d))}{\omega^4} d\omega =$$

$$= \frac{1}{2} \int_{-\infty}^{\infty} \frac{\cos \omega (1-d)}{\omega^4} d\omega + \frac{1}{2} \int_{-\infty}^{\infty} \frac{\cos \omega (1+d)}{\omega^4} d\omega = \{ \text{same contour} \} =$$

$$\# \int_{-\infty}^{\infty} \frac{\cos \omega d}{\omega^4} d\omega = \frac{e^3}{6} 2I \int = \frac{1}{2} \frac{(1-d)^3}{6} 2I + \frac{1}{2} \frac{(1+d)^3}{6} 2I =$$

$$= \frac{1}{12} \frac{1-3d+3d^2-d^3 + 1+3d+3d^2+d^3}{2I} = \frac{2(1+3d^2)}{12} 2I = \frac{1+3d^2}{6} 2I =$$

$$= \left(\frac{1}{6} + \frac{d^2}{2} \right) I 2 = \frac{1}{3} + d^2 I$$

$$\Rightarrow C_2 = \frac{4}{d^2} \left(\frac{1+3d^2}{6} 2I - \frac{I(1+d^3)}{3} \right) \left(1 - \frac{d}{3} \right) =$$

$$= \frac{4}{d^2} \left(\frac{I}{3} + d^2 I - \frac{I d^3}{3} - \frac{I}{3} \right) \left(1 - \frac{d}{3} \right) =$$

$$= \frac{4}{d^2} d^2 \left(1 - \frac{d}{3} \right) I \left(1 - \frac{d}{3} \right) = 4 \left(1 - \frac{d}{3} \right)^2 I$$

При $d=0$ $C_1 = C_2$, и выражения g_1 и g_2 совпадают.

$$I = \frac{\pi}{2}$$

$$\int_0^{\infty} \frac{\sin t}{t} dt = \int_0^{\infty} \frac{1}{t} = \int_0^{\infty} e^{-at} da = \int_0^{\infty} da \int_0^{\infty} e^{-at} \sin t dt = \int_0^{\infty} f(a) da = \int_0^{\infty} e^{-at+it} dt$$

$$= \operatorname{Im} \int_0^{\infty} \frac{e^{-at+it}}{-a+i} da = \int_0^{\infty} \frac{1}{-a+i} da = \lim_{\epsilon \rightarrow 0} \int_0^{\infty} \frac{1}{-a+i\epsilon} da = \frac{1}{a^2+1} \int_0^{\infty} da = \arctan a \Big|_0^{\infty} = \frac{\pi}{2}$$

$$\Rightarrow C_1 = \pi \quad C_2 = \pi \left(1 - \frac{d}{3} \right)^2$$